BIR W TFRIMAHR B, Fie(3 X)) AN

- &KX

BHRAO
1) T £ AR SR I 5 e 155K | 15~645% | 65mLL L
w # 28,674 | 85 376 | 42,590 | 42,786 | 16,710 | 60,916 7,750
=1 Ei HT 1,713 5,106 2, 536 2, 570 1,515 3, 433 158
R =1 HT 63 222 109 113 26 130 66
P £ R Hy 402 1,154 565 589 269 792 93
X /N P Hy 722 2, 256 1,098 1,163, 239 1,716 301
X HE 7 2,354 7,630 3, 804 3,826 1,713 5,418 499
X = HT 188 575 280 295 71 442 62
3 H HT 64 204 96 108 27 155 22
it (S if} 1,342 4,582 2, 225 2, 3517 675 3,382 525
7 th 7 68 258 134 124 84 151 23
H e i} 584 1,628 785 843 520 1,046 62
XK B & 1 T H 0 0 0 0 0 0 0
X B = T H 0 0 0 0 0 0 0
A H + HT 107 340 178 162 45 242 53
o Y Hr 1,373 3,579 1, 806 1,773 730 2, 566 283
X ® H & 57 214 101 113 35 143 36
/N & R if) 304 854 451 403 191 619 44
HE % 1 HT 1,285 4,013 2,029 1,984 934 2, 8517 222
T K ™ H 188 686 349 3317 94 451 141
AN i 54 T 409 1,209 617 592 161 925 123
= H Wy 1,129 2,814 1,338 1,476 351 1,868 595
= £ F BT 1,065 3,314 1, 632 1,682 520 2, 505 289
+ = i} 3,374 9,993 4,971 5,000 | 1,477 7,421 1,095
= fel i) 49 158 71 81 22 112 24
th [} i) 62 188 92 96 20 138 30
M 1 # i) 80 249 133 116 44 174 31
S J Hy 363 1,107 535 572 180 122 205
g th BT 648 1, 905 974 931 215 1,437 253
o .5 HT 838 2,315 1,225 1,090 453 1,701 161
e FH if] 648 1,363 642 721 154 978 231
= H T H 3,139 9, 237 4,626 4,611 2,028 6, 545 664
% H A T HB 2,810 8, 209 4,193 4,016 1,853 6, 040 816
2 ®H o 3 T H 540 1,573 794 779 270 1,171 132
[£3] 23 E HT 420 1,389 665 724 372 959 58
3 2 Y 79 252 127 125 32 170 50
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Hr T ¥ % | HEHE e B 5 | ISR | 15~645% | 85n%2L L
25 (= + MY 2,207 | 6,800 | 8,408| 3,392 1,890 | 4,507 403




